





company says
they are

Innovative.

Talking about
Innovation

does not make

one

innovative.
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Innovation has had many

markers — R & D spenc
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R&D as % Revenue




Global R&D intensity hit an all-time high of 4.5% in 2017

Global R&D 12-Yr CAGR of 4.8%
spending | 400 > 700

(USD Bn)

R&D as % of Revenue:
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Source: PwC Global Innovation 1000 study
(1) For Top 1,000 companies by R&D spend



R&D intensity of the Top 20 R&D Spenders globally is ~9%

Rankin Company Geography Industry R&D Spending Revenue R&D Intensity

2017 (USD Bn) (USD Bn) (%)
1 Amazon N. America Software & Internet 16.1 136.0 11.8
2 Alphabet N. America Software & Internet 13.9 90.3 15.5
3 Intel N. America Computing & Electronics 12.7 59.4 215
4 Samsung S. Korea Computing & Electronics 12.7 167.7 7.6
5 Volkswagen Europe Auto 12.1 229.4 5.3
6 Microsoft N. America Software & Internet 12.0 85.3 14.1
7 Roche Europe Healthcare 11.4 51.8 21.9
8 Merck N. America Healthcare 10.1 39.8 25.4
9 Apple N. America Computing & Electronics 10.0 215.6 4.7
10 Novartis Europe Healthcare 9.6 49.4 194
11 Toyota Japan Auto 9.3 247.5 3.8
12 Johnson & Johnson N. America Healthcare 9.1 71.9 12.7
13 General Motors N. America Auto 8.1 166.4 4.9
14 Pfizer N. America Healthcare 7.9 52.8 14.9
15 Ford N. America Auto 7.3 151.8 4.8
16 Daimler Europe Auto 6.9 161.8 4.2
17 Oracle N. America Software & Internet 6.8 37.7 18.1
18 Cisco N. America Computing & Electronics 6.3 49.2 12.8
19 Honda Japan Auto 6.2 125.6 4.9
20 Facebook N. America Software & Internet 5.9 27.6 21.4
Total 194.5 2,217 8.8

Source: PwC Global Innovation 1000 study



Innovation is an
unpredictable process
with parameters that
seem predictable




India ranks 29 out of
137 in a Global
competitiveness Index
~ done by the World
" Economic Forum.
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What is the need for the
product or the service?

Who or
what will

v ¥ ]
e ¢ thisnew
product

replace?



The Competitor
Space

*Netflix’s competitor is sleep

*Low Cost Airlines competitor is the train
and car

*|In shorts is the competitor to 200 news
papers

*The Air taxi competes with traffic jams

Indulgent categories compete with
each other







Unsuccessful
innovations have




1. Why do
successful
companies
produce

~ terrible

~ innovation?

S —

i !
f . a

.

(=~

RS A S S LN

- | <4, 2y
! i-—..



WELCOME TO YOUR

IRIDIUM

OFFICE. IT MEASURES

197,000,000

SQUARE MILES.
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. Arrogance- “The | am here
syndrome’

. Not understanding the core of
what your brand stands for

. Poor product from a great brand

. Blindly applying success lessons
from one category to another
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Why do successful .
companies fail with good \ & _ﬁ
innovation? A













. Some technical flaw in the

product

. Underestimating Regulatory
Issues

. Underestimating the challenge of
resources ?




Successful Innovations
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Types Of Innovation

Incremental Innovation
Variants

Cheaper than current offering
Riding a trend /fad

Business Model innovation
Copy a successful innovation
New to world Innovation







1. Celebrating \ /
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2.1s i
a separate
department?




3. Innovative companies
encourage:
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Cross Functional working
Higher Diversity
Better Inclusiveness g




4. Innovation need

a. Institutions and their e

b. Infrastructure

Human plus Fun

c. Capital —
d. Cur
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Summary




